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Graph of f
What is the lim f(x)?
x—=2
@ 1
2

2) Of the following tables, which best reflects the values of a function g for which Bnég (z)=67
el

Unit 1 AP Classroom Practice for Sections 1-2

The limit does not exist.

®

Cpghat 11 opproaches' '

what ¢t e%ua’ 3

!

T 5.85 | 590 | 5.95 | 5.99 | 6.01 | 6.05 | 6.10 | 6.15
g (:B) 7.126 | 7.075 | 7.033 | 7.006 | 6.995 | 6.977 | 6.964 | 6.960
7

T 6.85 | 6.00 | 6.95 | 6.99 | 7.01 | 7.05 | 7.10 | 7.15
g() £5.620 | 5.837] 5.961 | 5.098] 5.900 | 5.064 | 5.863 | 5.700
“eloser tu G ¥ e leser & &

b 6.85 | 6.90 | 6.05 | 6,99 | 7.01 | 7.05 | 7.10 | 7.15
g (:lf) 5.919 | 5.942 | 5.969 | 5.993 | 7.017 | 7.087 | 7.177 | 7.269
T 685 | 690 | 6.95 | 6.99 | 7.01 | 7.05 | 7.10 | 7.15
g(m} 1.362 | 5.954 [10.691|14.690| 6.010 | 6.049 | 6.095 | 6.140

—/:1_97‘ nece S‘sam'l«ﬂ




3) Let f be a function that is defined for all real numbers . Of the following, which is the best interpretation of the statement hzg flz)=57
B
® The value of the function fatz = 3is 5. POT NECISSARILY

The value of the function fatz = 5is 3.

@ As z approaches 3, the values of f () approach 5.

@ As x approaches 5, the values of f (m} approach 3.

4) ¥
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Graph of

The graph of a function f is shown above. Which of the following statements is true?

® gﬁﬂf(z)=2-5 . _“,\—C? q
lim f(z) = 3 | Ao him Fly) = 2

) Z x-3)+
@ lim;f () does not exist because the left-hand and right-hand limits of f (2} as « approaches Ado not ex < ] "\’ ‘ (T\ = Z

ﬂ@ l'm}f () does not exist because while the left-hand and right-hand limits of f () as  approaches 1 exist, their values are not equal.
et .
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Graphof f

The graph of the function f is shown above. What is Ii%l flz)?
w32
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Graph of f

The graph of a function f is shown above. Which of the following statements is true?

lim f(z) = 1.5
lim f(z) = 0

z—+1

lin:ii J (&) does not exist because the left-hand and right-hand limits of £ (z) as x approaches 1 do not exist.
Ty

®

Iin{ J (z£) does not exist bacause while the left-hand and right-hand limits of f () as z approaches 1 exist, their values are not equal.
E~F
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7)

Graphof f

The graph of the function f is shown above. Whatis Emgl{h fz)?
o
© 1
@ nonexistent
8) T 3.9 | 3.99 | 3.999 | 3.9999 | 4.0001 | 4.001 | 4.01 | 4.1
f(z)| 5.8 | 585 5.9 5.95 6.999 6.99 6.9 6

FROM LEFT o R0m RICHT

The table above gives values of the function f at selected values of 2. Which of the following conclusions is sugpurtezi by the dsta in the 1able?

® Imf(z)=¢

® lmfle)=7

z15341 f{z) =6and }Eﬁﬂx} =17

® :ii:gf(m} = Tand zlfg_f(m) =6

for x< 2
for x=2
3 for x>2

9)

Let f be the piecewise function defined above. The value of Iim f(x) is q
. x— 27
[

® 7 ?

@ nonexistent



10)

O

\MM

—s//l\.fJ <IN

3 -2 10 1 2 3 4
Graph of f

The graph of the function f is shown above. What is xf_f)ﬁjl Flf(x3)?

® - ’{jcv‘m 'F/ﬂ)
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@ nonexistent

f@) =3 [lmf(e)=4

11) o I =5 |limg(x)=-0]
R =-3 | lmh(z) = 2

The table above gives selected values and limits of the functions f, g, and k. What is

hz?:l (R(2)(5f (=) +g(x)))?
® - = o G5 lim€E) "’ i ?(X)>

- s
. A2 2
© 28 = ,:M h(X\.(SI;mF(x) + (;M %(7())
XD X922 X722
© 84
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12) If £ is the function defined by f(z) = 12 o 4= then §1m f (z)is ma'ﬂbf_ non 'CX; S—I@{*

® o ’ ‘ "W\ ‘F(}r\ =z % /

n*>72
3 .
i (06 e it nonexiskrt

m
9> (. 3)(%/I as W &Cro in

denominator can

_opim A¥2 be Simplihtd out ’
@ nonexistent e N S 3
= 4
b « »
13) If f is the function defined by f(z) = V,_ «!‘ ,then ilmf () is equivalent o which of the follawmg’? mavbf nov\e‘ﬂ'f‘bn“'
| T ]u Q) -F()()
® lme+2)(va+ve) P
7 I ' \ Y (7?’1'(?1
iy (454 v3) i 22—
Aoz Vx-V2 iz
© ii_%(xﬁ~2v/§) L |;m (q(fz)(qyl)f(ﬁf\(i
272 % = ')
® lmernE x tx =7
= ' ’m (7(“'7')( +Vz )
XL
' (m—l}gf:r—é—l} )
) f@:{—**—em-u for 21 @) Gt G )
2 forz=1 fox—1|
If fis the function defined above, then Im:;f (x)is "’X‘ l (’Y ")
T+ -
@ o
4 A
® - ] - (x31) o >
@ - - (’X —(\ x < |
: 2 x= )

@ nonexistent \ L J




15)

represeniative of the function 2 7

12—z for z <3
(x)={

4z —3

for z>> 3

'1 m %(’A
'X""3

\(\(\ "

If b is a plecewise linear function such that Bn;k(ﬁ:} does not exist, which of the following could be

fonly
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Graph of f

The graph of the function f is shown above. What are all values of z for which f has a removable
e

discontinuity? W\ " \
on ’? one po«ﬂ"'—’
@ T only
' _ )L\_ﬁg_;ﬂ_f_c.d 'ﬁ ma I‘(
5 only Co n‘h nLo VS

2 ibher male
one oC move ont
— — ~

© remren
® 1,5and7




T ———

17)

\
\/
v

- N WA~ ®
i

QO

1.2 3 4
Graph of f

The graph of the function f is shown above. Which of the following could be a table of values for £ ?

@ z 0.95 0.99 1 1.001 1.05

f(z)| 6.9025 | 6.9801 | 7 | 7.0020 | 7.1025

0.99 1
4.0325 7

@ z 0.95 0.99 1 1.001 1.05

fz)| 41624 | 40325 | 4 | 3.9968 | 3.8376

z | 095 | 099 1 1001 | 1.05 |
7(z) | 41624 | 4.0325 |undefined | 3.0968 | 3.8376

18)  Let f be the function defined by f(z) = 32428 \yhich of the following statements is true?

2z

[ has a discontinuity due to a vertical asymptote at z = Qandatz = 1. 'F( x \ =

[ has a removable discontinuity at & = 0 and a jump discontinuity at z = 1. ‘P(x\ - X

A
[ has a removable discontinuity at z = 0 and a discontinuity due to a vertical asymD &
V.A. «t

atx = 1. ,
= | SinCe
s facbkr
@ [ is continuous at ¢ = 0, and [ has a discontinuity due to a vertical asymptote at z = 1. Can not b'c
remove d.



19) (92 +3 forz<l1 Sl‘ Py
5 forz=1 /‘
fl@)=4—4z+9 for 1<z<3 / ,.' ‘f .
4 for =23 .3
Lz — 6 for z >3

Let f be the piecewise function defined above. Which of the following statements is false?

@ fis continuous at & = 1.

fis continuous at z = 2.

@ fis continuous atz = 3.

@ fiscontinuous atx = 4.

20) Which of the following functions are continuous on the interval 0 <z < 57?

Ple)= s with hlein graoh of 3 so e

@5‘(5‘3) o (————"ﬁlwagrs dfﬁnel so %64,
. Iz(rg) In(z — 3)

Li) = 5%  Plx)s (,;;)%'g)

!
NoT defaned 0 <X <3 so N°

(®) iandlifonly



21) Which of the following functions is not continuous on the interval —oo <<z < 00 ?
@ flz)=a*+2 +al+z+1 pdlqno mials alwa%s conbnvous

‘ y - -
:Ws 3‘”" @) (1) so . verheal aS?r\pf‘a‘h at = - |

foche &‘} groupin71
@ h{z) = Zsinz W .. sin  fonchin alwm‘q CM'Ehuo us

k(2) = o= H’t.’x NEVERZ 2¢r® SO a)waq:, ooW‘HﬂUoUS

22) fla) = 22+ B forz <2
" bz +2b for z > 2
Let f be the function defined abova; where b is a constant. For what values of b, if any, is f continuous at
=27 ' .
@ im fix) = lim €lx) = +(2)
2" a2t same a5
lim  £6)
@ 0 only L[‘l'bz - Zb"'Z-L *H2t

(q%z = 4

(©) oand2 \7 b2-db +4 = 0

b-2)(b-2)=0
There is no such b. b ~-2=0

b=2



Sin(3y) /1 Sin(3x)>
Gx 2 3
23) sin(3) )
j(m}:{ o for z#0
c for =0

The function f is defined above, where ¢is a constant. For what value of cis f continuous at & = 07

®

~— | ~1

24) CALCULATOR NEEDED
2—sinz for z <1

r] =
1@ {axq}zg—i—z%—c forz>1-

Let f be the function defined above, where ¢is a constant. For what value of cis f continuous for all 2 ?

hn Flx) = im €(x) = £(r)
1.159 x> x= I+ T

Same as

2~ an(|> ¢V i+z +C lim F(xS

/Lfé- S;n(|) - Cc3 +C:‘ -5 I+

Solve — N\
@ There is no such value of ¢ Us:,\a y ‘ — 2
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25) sinz for z <0
cosz for 0<z< ?_g
fle) =

tanz for & <z <2r

cotz for 2m<z < §2£

Let f be the function given above. On which of the following intervals is f continuous?
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